ARNTEREFSREHFEHT - AOKEFR

Tri24F12 A RBHE
FR24F128KH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BRAZERAO 26,339 34,574 36,984 71,558 BARAEFRAO 26,297 34,522 36,943 71,465
SNEAERAO 184 235 234 469 SNEAERAO 186 238 235 473
KENMAB 26,523 34,809 37,218 72,027 KENHAB 26,483 34,760 37,178 71,938
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,042 1,428 1,405 2,833 B — Al =2 247 302 333 635 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 774 889 945 1,834 . ¥ /N 122 166 178 344 HWmE—TH 792 901 1,013 1,914 wu&aE—THB 0 0 0 0
2 HT 75 Hh 15 PN ] 206 218 242 460 =H 108 146 154 300 WM&E-TH 563 700 770 1,470 WILE=-THE 0 0 0 0
ZA T B Hh 3 N 857 991 1,068 2,059 A T S B 68 93 107 200 WE=TH 265 337 384 721 WILE=TH 0 0 0 0
TR s TR 1,009 1,243 1,367 2,610 KEf 195 250 245 495 WEMTH 198 262 293 555 WILEMTHB 0 0 0 0
T/ E i H/E 468 567 604 1,171 ETEFE 18 27 28 55 WEATH 760 1,039 1,151 2,190 BWILERTHB 0 0 0 0
K2 A EELW 192 236 276 512 FAFTET 162 175 205 380 FENARTH 86 115 120 235 WILEARTE 0 0 0 0
ma 103 161 156 317 T Hh i FhTET 120 139 153 292 W&EtTH 183 253 266 519 wWLUEtTH 17 24 28 52
T 3 Hh 32k iR 256 329 379 708 At FET 133 174 166 340 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 96 107 143 250 Fa ET 173 223 265 488 HEEZTH 224 314 321 635 WILEATE 0 0 0 0
XE 801 949 966 1,915 FaET 17 23 30 53 HEBS=TH 10 10 12 22 WILE+TE 0 0 0 0
At 2 FE #hiz ZzE 429 503 512 1,015 o = Hhizk HRET 35 33 48 81 HEEMTH 0 WLE+—TH 0 0 0 0
ot B st i 161 204 189 393 BRHET 103 119 133 252 HESRTH 283 346 396 742 BWuE+=TH 0 0 0 0
i) i 186 219 231 450 % 79 78 103 181 HEBARTH 172 239 249 488 BWUE+=TH 0 0 0 0
4 this He 2,847 3,607 3,997 7,604 RifiFE 138 163 188 351 HEELTH 332 393 428 821 INEt 17 24 28 52
HZE A Hhis HES 1,655 2,084 2,277 4,361 AR o ERE—TH 52 58 68 126 HES/NTH 374 494 535 1,029 =1 10,989 15,312 16,152 31,464
ARGt KZNE1~4TH 781 1,007 1,106 2,113 BRER_TH 286 340 373 713 HESNTHE 260 288 336 624
a2 & Ki2)I185~9T B 1,491 2,361 2,383 4,744 ERE=TH 43 65 68 133 AZN&—TH 339 423 470 893
W R A thig MWERE 2,103 3,121 3,220 6,341 il 63 60 74 134 KEZJNEZTH 100 126 138 264
XA iz HmxEA 2,095 3,108 3,141 6,249 ek 37 26 4 67 KEINEBZ=ZTHE 342 458 498 956
LA Hh i wIlE 17 24 28 52 it 39 52 58 110 KZJNEMTH 0
=11 17,569 23,356 24,635 47,991 hnyE R ER iz INGE 58 58 67 125 KENEBEETHE 239 409 393 802
INST 82 82 81 163 KZNEBATHE 565 825 831 1,656 (FH)
AARAERHE- A O£ (IHILEE) §4 5 85 93 109 202 R2NEETH 325 513 526 1,039 X5 s 4 5 % i
(LI EH 29 39 43 82 KENEBE/NTBE 362 614 633 1,247 mmEae—TH 166 219 235 454
1T 4 B R X 3 L 5 g &t HFERE 103 115 132 247 KENEATE 0 EmE&=TH 138 154 187 341
5 F st tisE 178 253 308 561 fit] W} 119 163 168 331 MWREE—TH 476 731 709 1,440 EMEXE=TH 142 163 194 357
[Fap il 387 558 578 1,136 TR 99 117 146 263 MREEZTH 119 184 189 373 AmEemTH 117 132 154 286
dt 3 E thig TEE 380 572 593 1,165 [ic] 48 54 62 116 MWRE=TH 237 347 377 724 EME&ETH 55 67 72 139
T E i MTE 643 881 919 1,800 HRIR Hhig H 31 35 42 77 MREMTH 261 367 388 755 mAMmXEaNTH 163 199 215 414
HEF 56 62 89 151 BRI 65 70 92 162 MWRERTH 253 398 410 808 mmEaetTH 150 202 216 418
=58 deiAT R 133 192 206 398 IhEF 73 85 101 186 MWMEENRTH 289 420 431 851 mmxa/\TH 184 230 253 483
B 220 361 385 746 mp 36 50 57 107 MWREETH 257 388 398 786 mAMXaEATH 185 224 239 463
e 43 45 70 115 L3 G 40 43 52 95 MWRE/NTH 211 286 318 604 mmEae+THE 183 221 238 459
a1 52 79 94 173 b=pie) 37 44 48 92 wmEE—TH 262 306 321 627 mEmnxeE+—TH 251 311 336 647
EI\2 132 173 216 389 B/ 13 17 16 33 BEE-TH 354 529 515 1,044 mEmnEe+=TH 214 299 298 597
IRt &R i £33 77 102 137 239 N 5 6 6 12 BEXE=TH 330 530 526 1,056 mmEae+=TH 154 188 204 392
Eiha 54 76 84 160 g\ 31 47 47 94 mBEEMTH 267 403 424 827 mEmnEE+mTH 122 167 184 351
a5 98 138 145 283 BTF 20 31 29 60 BEERTH 327 516 539 1,055 mAnEae+aETH 136 189 175 364
tiae 147 177 196 373 4 2 ik ETFF 15 24 22 46 BESNATH 280 470 463 933 A5t 2,360 2,965 3,200 6,165
EIR7 70 90 89 179 = 11 13 14 27 mEELtTH 275 354 353 707
LRt ithig EIA8 96 131 131 262 =2E 9 8 11 19 wmEE/NTH 0 0 0 0
tIRo 113 147 159 306 it 3 7 7 5 12 INET 10,972 15,288 16,124 31,412
ti\E10 89 111 136 247 K4 13 11 16 27
WEXN 29 30 30 60 it 30 44 53 97
= REX S 5 6 6 12 %53 45 52 78 130
EREEHN 66 49 63 112 RN & thig Emxa 2,360 2,965 3,200 6,165
=11 3,068 4233 4,634 8,867 =1l 5,702 6,985 7,715 14,700




